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SN IFED MDA
B OIS U ZAS oI
SOl JlEFlY ool 9 MW AL

SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
= 13, 000]
o ZEYg HE 9,416 5, 594 3,822
202 48l 3,200 0 3, 200
01 =LHbI 3,200 0 3,200
(OFEF=R-uEpy = 3,200
207 A FOH | 6,216 5,594 622
03 AlEHFH| 6,216 5,594 622
OA Zag HA 77738, 000F = 6,216
[= 5, 416]
= 800]
& B2AMetg 4 28, 487 7,107 21, 380
201 et | 3,000 0 3, 000
01 AtR2teldl 3,000 0 3,000
O4 RENUHBEMNSEAN = 3, 000
202 (48l 11,500 0 11, 500
01 =2LH0bI 11, 500 0 11, 500
Ox 2=2AMct 28 = 11,500
207 A FIH | 13, 987 7,107 6, 880
03 AlEFHI 13, 987 7,107 6, 880
O4i BE2ANAHYEHR(2T) = 13, 987
[= 10, 7571
== 3, 230]
Foiel H& 1,200 1,200 0
207 AFIHEHI 1,200 1,200 0
03 A&l 1,200 1,200 0
OFHe|H(28) = 1,200
[= 1, 045]
== 155]
S DtoI2 kA0 ol 115,915 85, 850 30, 065
207 A IHEH| 115,915 85, 850 30, 065
03 A& 1| 115,915 85, 850 30, 065
OHOt0I2 St 20t oY 97&+*1,195,000A = 115,915
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SRl EFAY ot 9 M T (ch9l: ®#2l)
SH-BH-SA(BH) - MBAY - BLS 0f) &+ o Shitr HDS2
[= 81, 260]
== 34, 655]
X 2MAI] 2 EAMY 7,370 16, 548 A9, 178
207 A 2IHEHI 7,370 16, 548 A9, 178
03 Alglgt+HI 7,370 16, 548 N9, 178
OHXLHAI 2E A 1, 568 x4, 7005 = 7,370
[= 6, 430]
(= 940]
d2E A 41, 800 40, 000 1,800
202 o4l 1,800 0 1,800
01 =LH0ddl 1,800 0 1,800
oA = 1,800
207 A 2IOHEHI 40, 000 40, 000 0
03 A&+l 40, 000 40, 000 0
OZ g 50, 000& *800F = 40, 000
[= 40, 000]
II=EEIMN ¥ HEHE 18,028 16, 364 1, 664
207 AA2IOH &I 18, 028 16, 364 1,664
03 Algebl 18,028 16, 364 1,664
OJ=EHIAMN & H82F = 18,028
[= 18, 028]
SA==2l AL Q12| 77,880 0 77,880
202 o4l 3,000 0 3,000
01 =LH0dHl 3,000 0 3,000
OZH0IEUFHI = 3,000
[= 1, 500]
== 1, 500]
301 Et2 A3 74, 880 0 74, 880
09 S92RRIA=ZY= 74, 880 0 74,880
OS2 At 212 = 74, 880




9| MOIAA
229 9 Z42 oEe
EXoH ool 9 WHEA (o ®
H-22-e2i(8) - NRAY - BaS 0f) &+ o Shitr HDS2
gd4as A HESE |4 11,180 9,020 2,160
206 M=l 11,180 9,020 2,160
01 M=l 11,180 9,020 2,160
Ozl & =YX ASAS 100, 000& 308 = 3,000
OASHMIE 01sa 2S4S 100, 0003 *60kg = 6, 000
Odgs=+¢E 100, 000& 55 = 500
OAESSME(AE) 140, 000& 128 = 1,680
S2Y 3 = 25,400 35, 000 A9, 600
201 23| 12,000 0 12,000
01 AtR2elbl 12,000 0 12,000
OHSdHII=AE X2 1,000, 0002 x128 = 12,000
202 o4l 900 0 900
01 =LH0dHI 900 0 900
OI=EEE A = 900
207 &A1 IOH 2| 12,500 12, 000 500
03 AlEebl 12,500 12, 000 500
BE=(132) 3, 0003 x56&H*200& = 3,000
A EH(1318) 1, 0003 x5 *200= = 1,000
OJt=249 Jids 8428 20, 000& %1004 = 2,000
OAEH A = 1,500
OI=ZEABAMAE L A 10, 0002 *1005& = 1,000
OsASgdders R4 £ 250, 000&%165 = 4,000
AP S 71,600 200, 590 A128,990
201 Eer=23H| 71,600 165, 590 A 93,990
02 ===34Hl 71,600 165, 590 A 93,990
OAIZ &Hl | Xl = 50, 000
OXregtl S = 21,600
t= otdy &2 356, 587 254, 363 102, 224
=AA EXE 2,341 46, 187 N43, 846
101 elAH| 2,341 46, 187 N43, 846
10 JIZNZ22NSEs 2, 341 2,170 171
O/AREXR(1Y) = 1,792




Zsiojan= ¥ sas awmse
Cel EMS OINA Sty =
S SR(B) - NRAY - B S Ol &+ Shitr BlRE2
(= 806]
= 896]
OBds = 549
(= 274]
[= 275]
HEaZDAMNELZRA 29 9, 780 0 9,780
101 2l4dl 9, 780 0 9, 780
10 JIZHMZ2Z2RHEES 9,780 0 9, 780
OUdZIMEXR = 9,780
(=2 4, 890]
(& 4,890]
=S AMEH XYl 22,000 16, 000 6, 000
201 LBr2E| 22,000 16, 000 6, 000
02 332944l 22,000 16, 000 6, 000
OFFHALEHl =4I = 22,000
(= 8, 000]
= 14, 000]
IHES =l 10, 200 10, 200 0
207 AR Y| 10, 200 10, 200 0
03 A&l 10, 200 10, 200 0
OItE 3=l 850, 0002 123 = 10, 200
(= 5,100]
= 5,100]
SMSHAL 2HEH 312, 266 75,976 236, 290
202 04H| 18, 500 7,200 11, 300
01 3UWHbI 8, 900 0 8, 900
O=NZ2els2& 0l = 5,000
OIIESSBA & RS AM=2c = 3,900
02 A0 9, 600 7,200 2,400
OFASZEAERFA 9, 600
207 A1IHEHI 70, 500 66, 776 3, 724
03 A8 70, 500 66, 776 3,724
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W ol2as o Sam prEE(A)
LOISEAY 9t o HHETA(LD) (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
[= 2, 295]
= 2,295]
OEdzs s = 2,502
[= 1,252]
= 1, 250]
o ZSHd HA 52,289 45, 066 7,223
202 048I 8,000 0 8,000
01 =LHMYI 8, 000 0 8, 000
O g = 8, 000
207 A4 44, 289 45, 066 NTTT
03 A8l 44, 289 45, 066 ANTTT
O ZHHA 7773+%57,0005 = 44, 289
(= 38, 589]
= 5, 700]
2 22AHety 28 89, 744 24, 441 65, 303
202 04l 29, 000 0 29, 000
01 =LHMbI 29, 000 0 29, 000
Ox R2AMct 28 = 29, 000
207 A4 60, 744 24, 441 36, 303
03 A8l 60, 744 24, 441 36, 303
O4 S2AR 2 (25) - 60, 744
[= 46, 974]
= 13, 770]
Fohe| 2 9,575 10, 791 A1,216
202 48l 3,500 0 3,500
01 =LHObI 3,500 0 3, 500
OzFge| d& = 3, 500
207 A FOH | 6,075 10, 791 A4, 716
03 A8 7| 6, 075 10, 791 A4, 716
Oxueg| HX(28) = 6, 075
= 5. 465]
== 610]




M:ObEQ Mo
2O O SAS 0N BRI(XID)
| ObEFey Bt 9l M EA(KA)

SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
R HAI 2E AN 14, 583 32, 206 A17,623
207 AFIHEHI 14, 583 32, 206 A17,623
03 A& 1| 14, 583 32, 206 A17,623
OYHXLLHAI 2EAMHA 1, 568& *9, 3005 14, 583
= 12,723]
& 1, 860]
IISEFZAF 2 2423 72,144 78,348 AB, 204
207 A IHH| 72,144 78, 348 A6, 204
03 Alg&1| 72,144 78,348 AB, 204
OIISEFZAL L HSE2F 721, 4403 205 5 & 72,144
= 72, 144]
fEsdgdguy ¥ ZAEH 22 196, 000 58, 000 138, 000
405 KHaE SH| 196, 000 58, 000 138, 000
01 THaL=ESFHSHI 196, 000 58, 000 138, 000
ONsdaxteE(SF, 20, gZ, EHCH?) 160, 000
= 80, 000]
= 80, 000]
OCIAHIOIE(BF) 7,000
Og2sx(3F) 2,000
OAXLEIN(EF) 7,000
OENE(S=F) 2,000
Ol 2H(3=F) 3,000
OHHsI(20) 15, 000
goHLAs Y MES=E 54 23, 800 23, 200 600
206 M= Hl 23, 800 23,200 600
01 THZEHl 23, 800 23, 200 600
OIEYIEE ASUE 9, 000& *200H *50H A~ 9, 000
Ot & UK A=AS
90, 000& * 108 *5IH A& 4,500
Odegs= ¢ 50, 000& 108 54 A& 2,500
Odlgs=Mg 7Y 130, O00& * 123 54 & 7, 800




zggézlgi?é&s or: 22| (Xl L)

SRl EFAY ot 9 M TA(KA) (o ®
SN - FE-S(S) - NRAY - B Ol &+ Shitr BlRE2
IIEEYE F8 =i 117,800 68, 800 49, 000

201 LBtEA| 41, 000 10, 000 31, 000
01 AtS2teldl 36, 000 10, 000 26, 000
OZgdHIIS|E ™Meldl 600, 000& 5 2128 = 36, 000
02 532934l 5,000 0 5,000
OIIEEE&d 1,000, 000& *50H & = 5, 000
202 O4dl 9, 000 0 9, 000
01 =LYl 9, 000 0 9, 000
OJ=z2gad = 9, 000
207 AR Y| 52, 800 43, 800 9, 000
03 AlIE &l 52, 800 43, 800 9, 000
OJI=ZEEgsS MEEANE 10, 560, 000 *5IH & = 52, 800
405 RHaHESHI 15, 000 15, 000 0
01 ML ESEFHSHI 15, 000 15, 000 0
O&El 2 (E=) = 15,000
A e S 226, 000 276, 400 A 50, 400
201 LBt AY| 146, 000 62, 400 83, 600
02 232gdl 146, 000 44, 400 101, 600
Ozl 4,000, 0002 x5 & = 20, 000
OA&EHl Rl 10, 800, 000R *5I &~ = 54, 000
OXtgll s = 72,000
401 A& HI YL S OHYI 50, 000 197, 000 A 147,000
04 Al&HI 50, 000 182, 000 A 132,000
OFA HIJIEAIE = 40, 000
OStAMEAL (MBS L XS A-EH Q) = 10, 000
405 RHaHE S| 30, 000 17,000 13, 000
01 XML ESEH=HI 30, 000 17,000 13, 000
OMEeaEII? S(SF, 28, B
10, 000, O00& *3IH & = 30, 000
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AN J25s o Sus EBA(TA)
che i SAE ot Y SY(NA) (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
SNMSEAL 2FEH 149, 880 135, 761 14,119
202 04l 57, 600 43, 200 14, 400
02 FHAHOYI 57,600 43, 200 14, 400
OFMEZA 2FA = 57, 600
207 AFIHH| 92, 280 92, 561 A\ 281
03 A&7 92, 280 92, 561 A 281
OF4&E8 ZAMZE 18, 456, 000 *50 A& = 92, 280
HYESAHAH|(IIS/AMARA) 4,343,882 3,963,410 380, 472
ol 2| 4,071,522 3, 643, 296 428, 226
ol 29| 4,071,522 3, 643, 296 428, 226
101 elzdd| 3, 842, 222 3,414,896 427, 326
01 Jles 2,090, 659 1,970,316 120, 343
OdsH 64, 968
—“43(1Y) = 64, 968
Ot 1,217,740
52 255 (6Y) = 201, 060
62 205 (124) = 324, 044
732 155(30%Y) = 658, 728
-82 10&(29) = 33, 908
OJlsd 199, 788
82 225 (1Y) = 22,624
-92 155 (59) = 88, 704
-103 125(6Y) = 88, 460
(@) EnES] 418, 217
- 255(1Y) = 43, 511
- AL 185 (159) = 374, 706
Omase - 152, 979
OX I« bl = 36, 967
02 =< 566, 760 559, 637 7,128
ONE=Z(799) = 62, 568
OstHIE () (79%) = 3,565
OsHIB (1) (79Y) = 13, 348
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46, 320
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5, 848

2,400

25, 200
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11,490
19,184
2,040

264, 026

123, 240
120, 840
175,810
293, 016
62, 560
109, 477

124, 800
124, 800
122, 400
122, 400
187, 300
187, 300
312, 200
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64, 600
64, 600
373, 503
139, 187
106, 812]
32, 375]
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46, 396
29, 067
11,180
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